66 ICE B. RISTESKI AND KOSTADIN G. TRENCEVSKI
Ujt2Zj 541 + Aj42Tj542 = AjTj 42
UnZjn—1+ ’\nl'jn = /\jxjna

Uj1Z55 = (Aj = Njp1)T5,541

ujtaTjj+1 = (Aj — Aj42)Tjj+2

o U1 = (A5 — An)Tjn
Multiplying the first k equations of this system, we find z; 1%, (1 <k < n—j):
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Hence the s-th component of the vector X; is
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where (j) =0if s'<*5.
It is easy to verify that the inverse matrix of the matrix B = [b;;] = [(z)]

is given by (B~1);; = (1)t ('Z) Hence for the required eigenvector Y; of the
matrix A we obtain

Y;=B7'X; - (0<j<n)

where

o .
Y; = [yjo,yjl,"' ,yjn] ; (0<j<n) (2)

with coordinates

n
Yjr = Z(B_l)rsl'jsa
s=0

yjr = SZ::_(—I)’“ (i) C) (" 3 i z) O<jr<n). (3

Now the general solution of the system (1) is given by





